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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 1
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tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=1 / Date:07/24/97

0

20

40

60

80

100

120

140

160

180

0 50 100 150 200 250 300 350 400

A
C

R
s

Time in milliseconds

WAN Parking Bursty+VBR: ACRs

 ACR for S1 
ACR for W1 

���������	��

�����������������������������

ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 1

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=1 / Date:07/24/97
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 2

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=2 / Date:07/24/97
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 4

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=8 / Date:07/24/97
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WAN Parking Bursty+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 4

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=8 / Date:07/24/97

0

2000

4000

6000

8000

10000

12000

14000

16000

0 50 100 150 200 250 300 350 400

Q
ue

ue
 L

en
gt

hs

Time in milliseconds

WAN Parking Bursty+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 6

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=32 / Date:07/24/97
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WAN Parking Bursty+VBR: ACRs

 ACR for S1 
ACR for W1 

���������	��

�����������������������������

ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 6

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=32 / Date:07/24/97
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WAN Parking Bursty+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 5

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=16 / Date:07/24/97
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WAN Parking Bursty+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 5

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=16 / Date:07/24/97
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WAN Parking Bursty+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 7

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=80 / Date:07/24/97
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WAN Parking Bursty+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 7

mparkingwan-bursty-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=80 / Date:07/24/97
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WAN Parking Bursty+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 1

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=1 / Date:07/24/97
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WAN 2 Parking+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 1

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=1 / Date:07/24/97
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WAN 2 Parking+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 2

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=2 / Date:07/24/97
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WAN 2 Parking+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 2

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=2 / Date:07/24/97
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WAN 2 Parking+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 

�! "�$#&%'�(%'�*)+��
',���-

	i3?A���
6�)1=��$�H���>6��54�6>�DR��
m9 �p� ��I:9+
6;�3?��A)54�����=����|lA���
�9+�634���ds�34�6BV�)3?��|#��34�N�_9���8d�����"�mGEHO�=���������=�634����>
� ��54A���
Y34�6B�� �2�

��0



ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 3

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=4 / Date:07/24/97
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WAN 2 Parking+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 3

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=4 / Date:07/24/97
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WAN 2 Parking+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 4

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=8 / Date:07/24/97
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WAN 2 Parking+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 4

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=8 / Date:07/24/97
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WAN 2 Parking+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 6

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=32 / Date:07/24/97

0

20

40

60

80

100

120

140

160

180

0 50 100 150 200 250 300 350 400

A
C

R
s

Time in milliseconds

WAN 2 Parking+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 6

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=32 / Date:07/24/97
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WAN 2 Parking+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 5

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=16 / Date:07/24/97
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WAN 2 Parking+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 5

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=16 / Date:07/24/97
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WAN 2 Parking+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 7

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=80 / Date:07/24/97
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WAN 2 Parking+VBR: ACRs

 ACR for S1 
ACR for W1 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 256.00 256.00 256.00 256.00 256.00 256.00 / Graph: 7

m2parkingwan-vbr.new/option=2049/n_optionb=46/icr=150.0/reqsz=16/respsz=6144/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=80 / Date:07/24/97
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WAN 2 Parking+VBR: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 1

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=1 / Date:07/24/97
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WAN Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 1

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=1 / Date:07/24/97
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WAN Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 2

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=2 / Date:07/24/97
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WAN Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 2

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=2 / Date:07/24/97

0

1000

2000

3000

4000

5000

6000

7000

8000

9000

10000

0 100 200 300 400 500 600

Q
ue

ue
 L

en
gt

hs

Time in milliseconds

WAN Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 3

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=4 / Date:07/24/97
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WAN Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 3

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=4 / Date:07/24/97
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WAN Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 4

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=8 / Date:07/24/97
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WAN Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 4

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=8 / Date:07/24/97
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WAN Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 6

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=32 / Date:07/24/97
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WAN Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 6

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=32 / Date:07/24/97
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WAN Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 5

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=16 / Date:07/24/97
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WAN Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 5

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=16 / Date:07/24/97
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WAN Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 7

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=80 / Date:07/24/97
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WAN Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 18.00 256.00 256.00 / Graph: 7

mchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=80 / Date:07/24/97
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WAN Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 1

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=1 / Date:07/24/97
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WAN Modified Chain: ACRs

 ACR for S1 
ACR for S4 

���������	��

�����������������������������

ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 1

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=1 / Date:07/24/97

0

2000

4000

6000

8000

10000

12000

0 100 200 300 400 500 600

Q
ue

ue
 L

en
gt

hs

Time in milliseconds

WAN Modified Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 2

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=2 / Date:07/24/97
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WAN Modified Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 2

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=2 / Date:07/24/97
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WAN Modified Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 3

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=4 / Date:07/24/97
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WAN Modified Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 3

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=4 / Date:07/24/97
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WAN Modified Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 4

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=8 / Date:07/24/97
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WAN Modified Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 4

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=8 / Date:07/24/97
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WAN Modified Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 6

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=32 / Date:07/24/97
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WAN Modified Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 6

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=32 / Date:07/24/97
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WAN Modified Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 5

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=16 / Date:07/24/97
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WAN Modified Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 5

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=16 / Date:07/24/97
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WAN Modified Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 7

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=80 / Date:07/24/97
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WAN Modified Chain: ACRs

 ACR for S1 
ACR for S4 
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ICR: 150.00 150.00 150.00 150.00 150.00 150.00 / XRM: 256.00 256.00 75.00 256.00 241.00 241.00 / Graph: 7

mmchain/option=2049/n_optionb=46/icr=150.0/respsz=6144/reqsz=16/ict=10000.0/air=1.0/tbe=8192/xdf=0.0/tof=2.0/rttq=1/tcr=10/trm=100000

tdff=0.0/decay=0.9/a=1.15/b=1.05/mib=20000/mib=20000/share=2/vbrrate=124.416/qlt=0.8/time_int=1000/sw_int=100/mcast=80 / Date:07/24/97

0

500

1000

1500

2000

2500

3000

3500

0 100 200 300 400 500 600

Q
ue

ue
 L

en
gt

hs

Time in milliseconds

WAN Modified Chain: Queue Lengths

 Queue Length for Switch 1 
Queue Length for Switch 2 
Queue Length for Switch 3 
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